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QUESTION 1
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Scenario: The company is designing a cost-efficient environment for the call center workers. The IT department is

replacing the existing thin clients with newer models.

What are the benefits of using Hosted VDI with Provisioning Services?
A. Highest user density and lowest cost

B. Highest level of user personalization

C. Rapid provisioning and highest user density

D. Lowest cost and highest application compatibility

Correct Answer: C

QUESTION 2

Users must be able to connect remotely from their own mobile devices.

What should the architect consider to increase the security of the current authentication solution?
A. Adding a second authentication factor

B. Placing domain controllers in the DMZ for remote users

C. Shortening the Active Directory password expiration period

D. Populating the RDS user profile in the Active Directory user accounts

Correct Answer: A

QUESTION 3

Which risk could lead to a lengthy farm outage in the event of a corrupt SQL data store?
A. SQL server backups are encrypted

B. An untested SQL backup and restoration process

C. SQL servers that are NOT running on the same service packs

D. The use of SQL Mirroring instead of SQL AlwaysOn Availability Groups

Correct Answer: B

QUESTION 4
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Why is deploying four NetScaler appliances - two in the primary and two in the secondary datacenter with a NetScaler
virtual server for each appliance binded to a session policy, the best remote access design for the environment?

A. It allows end users to connect to their primary datacenter through a secure, reliable, and cost-effective solution.

B. It provides redundancy, while optimizing external WAN traffic.

C. It segments the Gateway and load-balancing features of the NetScaler appliances.

D. It allows for the expected expansion of remote access usage and provides SSL VPN functionality for future needs.

Correct Answer: D

QUESTION 5

Why does using SQL Reporting Services help the company comply with its security policy?
A. Because it enables automated report delivery

B. Because it enables PDF-based reports

C. Because it uses a standard TCP port

D. Because it provides security alerts by using SQL Mail

Correct Answer: A
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